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Chapter 8 Homework / Test Question Pool / Practice Problems / Section Review Questions

1. wWrite word and balanced chemical equations for the following reactions. Include symbols for physical states when

indicated. ﬁ SS

a. Solid calcium reacts with solid sulfur to produce solid calcium sulfide.

Bl + Ssy—> 85y

b. Hydrogen gas reacts with fluorine gas to produce hydrogen fluoride gas. (Hint: See Table 1.) /

I,’ _LD)-[- Tf_bf.” —_— 2 )+ i:.(fa)

c. Solid aluminum metal reacts with aqueous zinc chloride to produce solid zinc metal and agueous aluminum chloride.

2&|{5~, + _?thalz(;:'p — ZA]CI_-;@:Q 1—32@

2. Translate the following chemical equations into sentences: '

a. £82(1) +302(g) - CO2(g) + 2502(g)

b. NaCl{aq) + AgNO3(ag) — NaNO3(ag) + AgCl(s)
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1. Write word, formula, and balanced chemical equations for each of the following reactions:

a. Solid magnesium and aqueous hydrochloric acid react to produce agueous magnesium chloride and hydrogen gas.

Mg s> +2 HCko S Mo+ Hile

b. Agueous nitric acid reacts with solid magnesium hydroxide to produce agueous magnesium nitrate and water.

2HNO o + M0, = Mg(ND3), + 21120

2. 5olid calcium metal reacts with water to form aqueous calcium hydroxide and hydrogen gas. Write a balanced
chemical equation for this reaction.

Cols> ~ 220 — C»LOi-D..L ~ My
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Chapter 8 PP 274
1. Write balanced chemical equations for each of the following reactions:

a. Solid sodium combines with chlorine gas to produce solid sodium chloride.

2N&1§5 t Clp —> 7 Ne(|

b. When solid copper reacts with aqueous silver nitrate, the products are agueous copper(ll} nitrate and solid silver,

Cu.;g‘; +2A3N0_3 — C,d(‘w3>'1_, *2/-\5

c. In a blast furnace, the reaction between solid jron(lll) oxide and carbon monoxide gas produces selid iron and carbon
dioxide gas.

F:‘tf. ?_OB &) 'Jr_? (/O(‘b]'—; 2 T:-L@) T BC’O&
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Chapter 8 Section Review 274

1. Describe the differences between word equations, formula equations, and chemical equations.

2. Write word and formula equations for the reaction in which aqueous solutions of sulfuric acid and sodium hydroxide
react to form agueous sodium sulfate and water.

1,80 tasy + 2 Nfor), —> Na,S0q + 210D

. Translate the following chemical equations into sentences:

(2%}

{=i]

a. 2K(s) + 2H20(l) — 2KOH(ag) + H2(g)

o

. 2Fe(s) + 3C12(g) —> 2FeCl3(s)

4, Write the word, formula, and chemical equations for the reaction between hydrogen sulfide gas and oxygen gas that
produces sulfur dioxide gas and water vapor.

2 HiS +3 Ougy —> 2S 0y +2 2 O¢s)

5. INTEGRATING COMCEPTS The reaction of yanadium(Il) oxide with iron(lll) oxide results in the formation of
vanadium(V) oxide and iron(ll) oxide. Write the balanced chemical equation.

2VO + 3Fe, 0 —> Vo0s 1+ LFe O
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Chapter 8 Section Review 284
1. List five types of chemical reactions.

1.

5.

2. Classify each of the following reactions as a synthesis, decomposition, single-displacement, double-displacement, or
combustion reaction:

2. N2(g) + 3H2(g) — 2nrz(g) Lorbiw a dqo / Yo F s g
b. 2Li{s) + 2H20(l ) — 2LiOH(ag) + H2(g) M C!lS (Jmﬁ . 76
¢ 2NaNO3(s) —> 2NaN02(s) + 02(g) DELO~PBS | hoywd

d. 2C6H14() + 1902(g) —> 12c02(g) + 1aH20(1)  &AMRuSTIO N/
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5 Types of Chemical Reactions

1. Synthesis / Combination
A+ B--> AB 2Na + Cl2 --> 2 NaCl
2. Decomposition
AB --> A+B 2 NaCl --> 2 Na + Cl2
3. Single Displacement
A+ BX -> AX + B 2Al + 3CuCl2 --> 2 AICI3 +3 Cu
THINK: ACTIVITY SERIES ¢33
4. Double Displacement
AX + BY --> AY + BX (s) 2KI + Pb(NO3)2 --> 2KNO3 + PbI2 (s)
THINK: 1. Precipitate or 2. Gas or 3. Molecule (H20) S cuetin T o B0
5. Combustion
A + 02 --> "Oxides" + heat +light C3H8 +5 02 --» 3C02 +4H20




Chp 8 PP-SR.gwb - 7/8 - Thu Mar 12 2015 10:41:41

& Chapter 8 Homework - Word ? B - x
HOME IMSERT DESIGM PAGE LAYOUT REFEREMCES MAILINGS REVIEW WIEW Rebert H. Venner -
H-00 = b

Section Review cont'd

3. For each of the following reactions, identify the missing reactant(s) or products(s) and then balance the resulting
equation. Note that each empty slot may require one or more substances.

a.s nthesis:l_ | —> Li20
L & O —51 L~ O

b. decomposition: Mg(Cl03)2 — Al 5 C-\ p 4+ 3 O .

¢. double displacemen{; HNO3 + Ca(OH)2 —— C@_(M U3> '\' 2 H?_O
d. combustion:CSHl?_%DZ—% gC..OL 4+ {p [-‘\1{‘_‘;

4. For each of the following reactions, write the missing product(s} and then balance the resulting equation. Identify
each reaction by type.

a.BrZZI(I—% 2 k ?)Y’ + '_r__'_‘ 51 rug'l-e_ ﬂ.jpiat.{pa g_i.._+

@Naclomheat-—) 2 ﬁfﬂ Q\ _|_ 3 D‘L DECORPOSITNE ~J
2c.omdor—s J4CO4. I"]H’b@ C o r~Buepbw

d'CUCDJ'NazS_%—MkQ]ﬁﬁ -+ QuSm .ﬂr-’l-,].e__ s P[ﬁuW!—’C

Critical Thinking 5. INFERRING RELATIONSHIPS In an experiment, an iron sample is oxidized to jron(Ill} oxide by oxygen,
which is generated in the thermal decomposition of potassium chlorate. Write the two chemical reactions in the correct
seguence.

e Cing —252KEl £3 0.+ Feb) LTl
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1. Using the activity series shown in Table 3, predict whether each of the possible reactions listed below will occur. For
the reactions that will occur, write the products and balance the equation.

a. cris) + H2o() —> _ NIR_ C(J{d ll]zD ) SJ-U-""'\,\'\t-S

b. Pi(s) + Q2(e) —> __NR

c.Cd[s}+M—%_Cé P)\-—l -+ H'L
210

d.Mg{s}+steam——}_rYBLC)l|'6]/ —+ H?__

?)Identif\,r the element that replaces hydrogen from acids but cannot replace tin from its compounds. 3. According to
Table 3, what is the most-active transition metal?

) Pk
5 My |
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